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Converting from Scientific Notation Name:
Rewrite each problem in standard form. Answers
1) 9.03007 x 10°
1.
0
2) 263934 % 10
2.
3) 0.0226 x 10
3.
4) 756 x 10°
4,
5 626x 107
5.
6) 5x10*
6.
7) 7.0586131 x 10°
7.
8) 292x10°
8.
9 47x10
9.
10) 367x 107
10.
11) 20392314 x 10°
11.
12) 196 x 10
12.
13) 2.85x 10
13.
14) 804789504 x 10°
14.
15) 2% 10l
15.
16) 3x 10°
16.
17) 4.04 x 10
17.
18) 92x 10!
18.
19) 4x10°
19.
0
20) 432 x 10
20.
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ﬂh Converting from Scientific Notation Name: Answer Key

Rewrite each problem in standard form. Answers
1) 9.03007 x 10° L 9,030.07
2 263034% 10" ” 2.63934
3) 0.0226x 102 3 0.00226
4) 756 x 107 4 756
5 6.26x 10" 5 0.626
6) 5x10° N 50,000

7 x 10°
) 7.0586131 x 10 - 705,861.31

8) 292x10° 8 2,920
9 47x10 47
9.
10) 367x 10" 10 0.367

11 x 108
) 2.0392314 x 10 1. 203,923,140

12 2
) 1.96 x 10 1 196

13 X 4
) 2.85x 10 13, 28,500

14 « 108
) 8.04789504 x 10 1 804,789,504

15 2x10 15, 20

16) 3x 10° 1. 3,000,000
17) 4,04 x 107 . 404

18) 92x 10t 18 92

19) 4x10° 19, 4,000,000
20) 432%10° 20, 4.32
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